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Code version:
— w/o bkg: release-00-05-02/
— w bkg: release-00-05-03/

single photons generated with particle gun

Energy:
— w/o machine bkg: 50/100/200/500/1000 MeV
— w machine bkg: 100/300/500/700 MeV

FWD ECL acceptance (as in simulation config files):
'thetaParams': [12.398°, 31.62°] with uniform distribution

Full Belle-1l detector



W/0 wachine bkqy;
Crystal Ball fits

FWD ECL, w/o bkg, Egen =50 MeV

FWD ECL, w/o bkg, Egen =100 MeV

Belle IT

FWD ECL, w/o bkg, Egen =200 MeV
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resolutions

Energy resolution
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fitted points: small stat errors from CB fits

add syst or try Novosibirsk fit for more reliable uncertainties

fitted reso compatible with expectation below 200 MeV

resolutions at 100 and 50 MeV far from expectations
— 50 MeV: fitted reso = (3.14 = 0.03) % vs exp reso = 2.54 %
— 100 MeV: fitted reso = (2.63 £ 0.03) % vs exp reso = 2.07% %
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FWD ECL, w bkg, Eg,, = 300 MeV
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resolubions

Energy resolution
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700 2.76 = 0.09 @ 100 MeV ~ 10%
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